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(—=50) 3¢+ (+100) 5t =(+50) It.

PR SR MOA 100 52, #5560 57, B

B
(+100) 5 +(—50) 3¢ =(+50 ).

BB R AR B, BRI
SRS BRI, SERUIIEA B A B
IR SIS

) BB REEH 50 T, LM 80 5T, B H
FAi T |

(—50)it;+-(—380) 5t=(—8&0) TT.

ISR R G 80 5T, SUHHAY B0 IT; ¢ IR

M A R
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W, PREERAT 3 AN, BT T 5 AN, F
£ 15 0, A0 EIWRRERER, 24T T (—16) &L 38
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(2 /5 -8 /1N (~8) L=(5 /M) (—8) L=
—(15) H.

QT SR AN 2 AP AT 6 R, A
B 8GR TFATO B, SEFAT T 16 B, kil
e, 477 (~16) I, Ak, e

(2 /) (—8) HL-+ (B /1F) (—3) H=(~6) 1.
+(~9 1) =(—15) 1.
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(+2)+ (+8)=+(2+3)=-5.
(4+-3)+(+4)=+3+4)=+T.
BREHZ, (+a)+(+b)=+(a+b).
(0) AMHEY B,
(—2)+(—8)= —(2+8)=—b.
(—8)(—4)=—(B+4)=—T.
HEEZ. (—a)+(—b)=—(a-+D)
i (@), (0).FWBEH, 1 RRBEEEGRM, 2R
AP BICRI, TIPSR R A ot
BE. MLEEIEN, BIRSEL
(©) IEYH HB (KA IER). Sptria
g, SRR AR IIAR AT, TRSCE R LG
BHBCZ IR Uk, "
L 54(-8)=+(5=3)5 2.
MBS LB AR R IE, - ZRTRELLIES.
2. (=B H(+B)=—(5-=—2.
A R R R, AL,
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[E—]  EAH (@), B+5=(+2)+(+3), i
1. +54+(—=8)=(+2)+(+3)+ (—=8)=(+2)+0
=+2=+(5—8).
ARG (0), B—h=(—2)+(—8), &
2. (—5)+(+3)=(—2)+(—3)+(+3)=(-2)+0
=(—2)=—(5-3).
CET] 522, (-8)=1—4, #
1. 54 (=8)=54+1% 4:=6—-4=2= 4 (5~3).
LI § 22, (—b)=1-6, #
2. (—b)+8=1-6+8=4—6="2=-(6=8).
(] L SCMER, U5 5T, BH
A 8 5t TLHAFE J6HE (5-8) T MBTHIT
A 830, WA HARE (—8) T, W HAT, Dl
TR, (+6) TTH (<8) TTRFER. FibA
(+5)+(~8)=(6-8)=+(5-3).
2. H—HIAL T HHMES T M H
&h, FIRTRID 2= (6—38). BRI EE0S — (6
—8) X HATH MR T A B (—5) +(+3).
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W LA
(—5)+(+3)=—(5—38).

Llb SRR, MBS A LT R
FISALS),  SCHERS. DICUETIE 2, SUmii
A IR |

% a>b i, (+0)+(=h)=-+@-)
% b>a i, (+0)4(~h)=-(b-0a).

[E] AREGRN. SIAET (BURAESHAEGFN) MLLE 5

£, Ak EARTE ARSI, R e

PR R,

1401+ 5 S — 8 BACBLRTALIE (+5)+(—3)=2.

- 7 8 T B

K RO
L (~5)+8=2 2. 5+(—8)=1
3. (~5)+_(§_8)_a’? | 4. (—1)-+100=?
5. 1+(—100)=2 ’6.”(”—!1;)—:-(_!-10:6)_'—7:2
7. (—0)+100=? 8. +0+(—100)="7
9. (—0)+(—100)=" 10. (—2)+(—~3)+(=4)=1

o (=2)+(=3)+4=1 12, 24 (=8)+(~2=?
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13. (—2)+3+(—4)=" 14, (~2)43+4=7
15. 2+(—8)+4=7 16.. (—52)+8x=1
17. Bu+(—8x)=7 18. (—5z)+(—8)=1
19, (—20)-+(—=8u)+(—4x)=7 20. (—20)+(—32)+4o=7
21. 2u+(—8x)+(—4x)=7 22, (—22)+100x="
23. (—a)+100x=1 24. (—2)+(—1002)="
§ 26. ERBEYRE AHETSRES
T

H
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1. 2—(45)=24+(—5)+(+5)—(+5)

| =2+(—5).

2. (—2)—(+85)=(=2)+(--5)+(+5)—(+5)
=(=2)+(~5).
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s —(+@)=0+(—a)+(+a)~(+0)=2+(~0)
O) fugK- B KH TH:
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1. 2—(—8)=24+(+5)+(-5)—(—5)
=24 (+5).
2. (=2)—(—B)=(—2)+(+5)+(—5)—(~5)
—(—2)+(+5).
MRS, W RN A, DD
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ff (@), 0) =8 713 o= (L0)=0+(Fa). 4
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FELEAEE, R AR B e Tty BT A
B, e—(—y)=z+y HAH?

3. 2-8=7 4 (=2)-8=1

5. 2—(—8)=7 6. (—2)—(—8)=1

1. __Zx—SJ:%? 8 (—2%)—8z="1

9. 25—(—8n=1  10. (~20)—(~85)="

11 2 (<8)—4=7 12 (—2)—8—(—4)=1

13. 22—8v—(—4a)=714. 2—2z—8x=7 o

B BE + Xk
T i B R A
1 owesy, —3x+y,  4v—8y.
[B21] 23y

~Bxiiy

Az=8y

Si—dy
[3£] 22+ (—87) +4w=2[2+(—3)+4]x=3%,
By -yt (—8y)={8+1+(—8)y=—4y.
2. 8x+8y, — 20+ Ty, 6c—9y.
3. wtytz, Su—2y+ 4z
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4. ,;3x~j6y~82, ‘—-,723—#231-‘,—32.

5. x+ytz 3r+4y—82,  —8r—Ty+9z.
AR, 3 HERIERIR R

6. x+2y, —100+99y.

1. —x—2y, w}zy. |

8. —ux+t+2y, x—2Y.

9. —855+9y, —8x-+9y.

10. 8r+9y—bz, —8r+9y—bu
11. 242y—82,  4u+5y+6e.
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HEREARIRAR 7. SRR & — Hor s,
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SEBGHIY, AR

() IHSRZRIAEMER, BLWs, AR
BRI 45 S AT, B TE s
A% BSOS AR IEE. B BT



58 ££ ﬁ

L —3=d=—3+(—4)==(3+4)
~5—8=5+(~8)=(5+8)
HEZ, ‘~A—B=—A+(=B)=—(A+B)
——-(A+B):-=—A B. 3)

e e e e e,

L. —@-4)=—[8+(-4)]
==3—(—4)=—-3+4
—(@-8)=—[3+(-8)]
=—3-(-8)=-3+8
HHEZ, ~(A—B)=—[A+(=B)]]
=—A-(~B)=—A+B
—(A=B)=—A+B. (49
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?@A?ﬁaﬁﬂ’]ﬁﬁ] CH TE’%‘AE%F‘] Hat Z R L5,
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mi, 3+2—5=8+(2— 5),
32— 5=3(~2+5).
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- 2. —mlety—2)=—(max+my—mz)

= —MEr—MmYy-+mz.

#HE + t
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1. 3z—(y—3). 2
3. 3x—(yp+8). 4. 3x-+(y+3).
5  —[a+y—2)~d]. 6. —[z—(y—2)+d].
1. 3(a§+y~z). 8. a—y—2).
9. blz+38)+6y. 10- _.;5(a;f3)+6y.
HRTR:
11. 5(z—8)—6(x+8).
[#3i%] B?Ii’(“.éfixmilii.-61:-—48=(5x7-6:v)--.(15+{18)-
=—x—63. |
12 5(a:4 3) —'ﬁ(w-—.— 8)‘+_:‘c—_- 3.
18. 9w y)+8@— e
14. —B(e—8)+6B—2)+9.
15. —3(z—1)+4(z—2)—b(x—3).
FETFIER, 08 o y WEHE AEHAI0EIERN;
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. 3x+(y—8).
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16. a—-2x+3y—4z. | 1171 a— [20—(8y—4z)].
18. a—[(2x—38y)+42]. 19. a—[2z—(3y+82)].
20. & x=m-+ty, HU-—(«:-—y)%—(m-%y-—y)=—-m
.=;m—y+'y
=—(m+y)ty=—o+y.
X y=m-+uw, H ~(@—y)=—(e—m—x)=+m
= tmta— = ty—uw.
EARRREA AARAIETER G X —FIET RIIEE
- (6—8) MULER—b5+8, k—(T—3) UM—%EA -T+3.
§ 28. -‘Eﬁﬁimiﬁ AT 4 =5
O  EEXER (+o)(+b)=+ab.
i (+2)(+8)=+6. Ltl:f_ﬁ_iﬁrﬂﬂ, SO,
1y Eﬁxﬁﬁg{ (iﬁ%{XJE‘E’éi)" Pl
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8.7 2(—0)=2 1 (—b) fFn=(—b)+(-b)
=—2b=—(2xb).

4. 3(—b)=3 @ (-b) wyFn
=(=b)+(—~b)+(—b)

= --8b=—~(8xb)..
ez, TEEERHTZT, ER
a(—b)==a {7 (~—b) fyFn
=(—0)+(—b)+(-0)

(+a)(— b)'——-—(a,x'*b)
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ALK SHRSATEI K I B $38 80
B, 7 HEF SRR Tx30 B, HALGE =
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L 7(~80)= —(7x 80).
- VLR, #R (+a)(—b)=—(axb) mpzz.
AP S, B,
(D) EBFREM i (—a)(—b)=" s
SERI, SRR
1. (=2)(—8)==2(—8)= —(—6)=6..
(BF $27 K §27 ik 245 2 3%).
20 (—2)(b)==2(=b)= —(-2b)=2b:
8, (~3)(—b)=-=8(-b)=—(—8b)=83b,
fz, EWENE R, REH
- (0)(=b)=—a(—b)=—(~ab)=ab.
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FREE 2R TR IR, R g
WWZ»

Bildn, HAMERE, FHEIERI—500 5T, 4k
BEMTTR, S4B (-8) 4 %
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(—500) 52 1500 FIE A SERIFA WA, TR
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W, RRARST
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BRI (—a) (—b)=ab il FAup]
g, BESEBIG.

g2 83 T A
1. @ (I, A1) B4% (+d,)(+b)=+ab
( a,)( b)~+ab

ONCONG) ) i Mﬁﬂ’ﬂyﬁ
(Z) (Fa)-+BY=(—a)=b), #H?
(H) (~a)(=b)(—e)(—d)=abed, H7
(T) (—a)(=b)—e)l(—d)(—e)—f)=abedef WK
2. (D) %i-(+a)(~b)=—ab,
1, (1D %t (—a)(—b)=ab;
AR (=D(-1(-D=?
(— q«) ( c) abe, HRHT
() (- ) 1)( —1=1
( a)( b)( c)( d) abcd AT
(") (—-1)( 1)( 1)( 1)(— 1) 7
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(T) %%WW ;ﬁ%mmu&? -
3. 8X(-2)="? (“3)><( Q)= (—8)x2="1
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10.

- (=3X(~2)%(=5)=1

(=BIX(—2)X(—1)X(—3)=1
g =1p=—2c=—8 fla+btc=7a+2b+3c="
3aX2bX c=1 abc=17 2abe=7 Babe="?

2(—-320)=1 8(~8r)="7 4(—Swy)=?

20(—3y)="17 3x2(—2y)(+32)="17

(—38x)(—2y)(—82)="

2:1:(-—,3y)+( 2)(— 3y)+( 52)(—6y).
+{ 7@X4r8y) 1

2(— 3:L)+( - 4)(~b5x)— (— 2 —Tx) = ?

(— 2’6)( 31:)( dz)="1
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(w‘w—mw Ye—yle—y)
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(+a) (+b)=+ab (o=t ()
(+a) (—b)=—ab ram-——9 )
- o B |
(—a) (—b)=-+ab —a=-T% (8)
(—0) (+D)=—ab  |-a="2 (9

LB, TR B
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(=2)=(—2)=7
2. (=8)+(-6)=13%(-6)=7 (=3)=6=1

3+6="7

. 86+ (—2)+(—~8)+(—2)=?
36+(—2)+(—8)+2=1 (~36)+(—4)+(~9)="
(D82~ =T (CD—8)+(~D+(~D=7

(—2)(—3)(—B)+ (= 6)+(~5)=2

 (—6p)48=7 (—62)=(—8)=1 6r+(—3)="7

(~8)(—82)+(—65)="1
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I, REAERRHIE L.
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2050, R 5 B 5. SRR
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o AP S A 56 B BT
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1. 3(z+2)+8=T~2)+16.
2 2o 8r="(xtb)~83.
3. B(x-+5)=T(x+2)+1.

4. 2u+3x=9(x+6)—64.

5.
6
7
8
9

5(x+5)=6(x-+ 4).

. 9x—6+3(+T)=2(x—1)+8z.
. 10+(z—3)—-2(x—~1)=x-+8.
: 3:&,—2(6x—3);=4(x%t3)—3(m+1).
. Ae—1)—(4r-1)=5(2—2)-10—=.
10. -

(7 —2)—3(+5) =3(dz+1).
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17.
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5. (7x—L8y)(8x-—7J) 6. (5a-+6b)6a—5b).
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8. (c—d)[(c—2)+(e—~2)0d=2)+d—2].
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13.

16.
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17. .
19.

21.
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(55— 5)(2—6).
(z—B)(x-L6).

A(x—9)z—10).
- (@4+9(z—10).

(2~ Bb)x+6).

(20—~ 5)(8:1: +7).
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4 6 9 6 9 /.
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] (82 +2Tm?) = (40" —6ma+9m?)
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d) ('+y')+(@—y)=2"—o.
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x*+17=90 | (2)
[kl (1), 43 2=12—y )
A (2), 14 (12—y)2+y*=90
i, 15 =8, ¥,=9
oy A (), £ 0,—=12—-8=9
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